
Examplefunctions

-Onto one-to-one bijection
-

F:-I - X X
f(x) = (x) + 1

g :
N -> X - -I
g(x) = 2x

2: > 52 , 4, 6, 8, ... 3 ~ ~ ~
h(x) = 2x

z: -> N

w(x , y) = x+y X X X



Eworksheet
Onto one-to-one
- -

Ejection

F:-I I- / X
f(x) = (x) + 1 For yeX, let x=y-10 f(-))=f()

f(x) = (x) + 1 =x+ 1 =y-1 + 1=y

g :
N -> X - X
g(x) = 2x No xeN such that f(x))=f(x2)=

f(x) =- 1 x,=xz

2: > 52 , 4, 6, 8, ... 3 ~ ~ ~
h(x) = 2x For ye 32,4, ...3, let=GEN , (same above)
z: -> N

then f(x) = 2x= 2 =y -

w(x , y) = x+y X XX
w(x, y)<2 , No (e,y) f(x,y)= f(y, x)
such that n (x,y) = 1.












